
CREATE TABLE TSTDEPT 
( 
  DEPARTMENT_ID    NUMBER(4), 
  DEPARTMENT_NAME  VARCHAR2(30 BYTE) NOT NULL, 
  MANAGER_ID       NUMBER(6), 
  LOCATION_ID      NUMBER(4) 
) 
TABLESPACE MONTBS ; 
 
CREATE TABLE TSTEMP 
( 
  EMPLOYEE_ID     NUMBER(6), 
  FIRST_NAME      VARCHAR2(20 BYTE), 
  LAST_NAME       VARCHAR2(25 BYTE) NOT NULL, 
  DEPT_ID         NUMBER(4) 
) 
TABLESPACE MONTBS ; 
 
ALTER TABLE TSTDEPT ADD ( 
CONSTRAINT DEPT_UK 
 UNIQUE (DEPARTMENT_ID)); 
 
ALTER TABLE TSTEMP ADD  
CONSTRAINT EMP_DEP_FK 
 FOREIGN KEY (DEPT_ID) 
 REFERENCES TSTDEPT (DEPARTMENT_ID) ENABLE 
 VALIDATE 
 
 Insert into TSTDEPT 
   (DEPARTMENT_ID, DEPARTMENT_NAME) 
 Values 
   (75, 'paris'); 
Insert into TSTDEPT 
   (DEPARTMENT_ID, DEPARTMENT_NAME) 
 Values 
   (76, 'rouen'); 
COMMIT; 
 
insert into TSTemp (EMPLOYEE_ID, FIRST_NAME, LAST_NAME, DEPT_ID    ) values (1, 'DEEFOOL', 'John', 75); 
 

 

 

 



alter table TSTEMP DROP CONSTRAINT EMP_DEP_FK; 

 

ALTER TABLE TSTDEPT DROP CONSTRAINT DEPT_UK; 

 

ALTER TABLE TSTDEPT ADD  

CONSTRAINT DEPT_PK 

 PRIMARY KEY (DEPARTMENT_ID) 

 ENABLE 

 VALIDATE; 

  

ALTER TABLE TSTEMP ADD  

CONSTRAINT EMP_DEP_FK 

 FOREIGN KEY (DEPT_ID) 

 REFERENCES TSTDEPT (DEPARTMENT_ID) ENABLE 

 VALIDATE 

 

insert into TSTemp (EMPLOYEE_ID, FIRST_NAME, LAST_NAME, DEPT_ID    ) values (1, 'DEFOOL', 'John', 75); 

 

 

 

 

In 9i, same testcase :  

Row-S (SS) on parent table 

Row-X (SX) on child table 

 


